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Mathematics (©Objective Type)

Time: 30 Minutes ' Marks: 20
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B.C or D given in front of each
guestion with Marker or pen ink on the answer sheet provided.

1-1. The domain of g(_\{): 2x-5is

(A} IR (B) the set of positive No.
(C) The set of negative rea! No. (D) The set of non-negative real No.
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3 “(x-5)(3-x)=

{A) 2x+8 B) —2x+8 (C) 2x-8 D) x+8§
dy
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—{secx}=
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(A) secxtanx (B) secx {C} cosecx (D) —secxtanx
6 1 f (x}=sinx ten f'(0) =
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7. Differential of V is denoted by.
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{A) -1 By 0 ) 1 (D) e
dy a
10. The order of differential equationECT+'(};_3x =0 i
(A) 2 (8) 1 {C) 0 (D) 3

11. lfaline "{" is parailel to x — axis , then inclination=

(A) 90° ®) 0° €y 30° (D) 45"
12. faline "/ "intersect X - axis at(a,O), then "g" iscalled ____ of line" (",
{A) y-intercept (B} x—intercept {C} slope {D) inclination
g3, = YL is__ formof equaio.n of line:
(A) point slope (B} intercept {C) normal {D) slope intercept

14. An equaion of line bisecting I and 111 quadrant is:

w F=Y ® *=Y ) x+2¥=0 o x—2r=0
15. X=0 is the solution of the inequality.

(&) 2x+1>0 (B) 2x+1<0 (€ 2x+1s0 (o) 2x-1<0
16. The centre of circle (X + 1)2 +(y- 2)2 =26 is:

(A) (1,2} (B} (-1.2}) € (-1,-2) D)y (1.-2)
17. The eguation of directrix of the parabola x= 4ay is:

{A) X=da {B) Xr=-=-a {C) Pt (3] y=a
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18 The centre of Eliipse E+ == 16 js:
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